@ R
’ ) Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
7,071 x 100 = 4,576 x 1000 =
7,441 x 10 = 5,855 x 100 =
1,334 x 10 = 9,897 x 1000 =
1,967 x 10 = 4,634 x 1000 =
8,99 x 1000 = 2,259 x 10 =
8,096 x 100 = 4,713 x 1000 =
7,332 x 1000 = 7,348 x 10 =
9,866 x 100 = 5,09 x 1000 =
3,748 x 10 = 1,974 x 1000 =
2,294 x 1000 = 7,441 x 100 =
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@ 9 ) Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
7,071 x 100 = 707.1 4,576 x 1000 = 4576
7,441 x 10 =74.41 5,855 x 100 = 585.5
1,334 x 10 =13.34 9,897 x 1000 = 9897
1,967 x 10 = 19.67 4,634 x 1000 = 4634
8,99 x 1000 = 8990 2,259 x 10 = 22.59
8,096 x 100 = 809.6 4,713 x 1000 = 4713
7,332 x 1000 = 7332 7,348 x 10 = 73.48
9, 866 x 100 = 986.6 5,09 x 1000 = 5090
3,748 x 10 = 37.48 1,974 x 1000 = 1974
2,294 x 1000 = 2294 7,441 x 100 = 744.1
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